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Figure 6.1  Co-ordinates of cumulative quantities of the
                   production elements in a simple elementary process
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Figure 6.4  Parallel production. Three elementary processes
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Fig. 6.6   Parallel production with three simple elementary
               processes with idle times
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Source: Morroni (1992: p. 63)
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Figure 6.5  Full utilisation of the productive capacities. Twelve elementary processes
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Figure 6.7a  Line production (a). Four funds (A, B, C and D)
                     of which only fund D is specialised.
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Source: Morroni (1992: p. 64)
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Figure 6.7b  Line production (b). Four specialised funds (A, B, C and D).

Source: Morroni (1992: p. 65)



L(t) =

U7,1(t)
U6,1(t)
U5,1(t)
U4,1(t)
-
-
U1,1(t)
F2,1(t)
F1,1(t)
-
-
-
-
G2,1(t)
G1,1(t)

U7,2(t)
U6,2(t)
U5,2(t)
U4,2(t)
-
U2,2(t)
-
F2,2(t)
-
-
-
G4,2(t)
G3,2(t)
-
G1,2(t)

U7,3(t)
U6,3(t)
U5,3(t)
U4,3(t)
U3,3(t)
-
-
F2,3(t)
-
G6,3(t)
G5,3(t)
-
G3,3(t)
-
-

Figure 7.3   Matrix of the production elements
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